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Exercise |

1. UwlaaarsinSovius:KIUS:INFA
dgovsoadaduduimniuawuntivsSeanndurnu
owduylaaarsiauiludiavldosivls (O-NET)

1) 207,094,165 Au 2) 217,904,165 AU
3) 270,904,165 AU 4) 270,094,165 Au
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Exercise |

2. lanAnumawniaud movnuus:zuinu
nnsSoaddunvadaudanauanuauwuauaunnnlaluas
iauiducdiavidosihvls (O-NET)

1) 6,208,743,036 nlalas 2) 6,028,743,306 nlaludas
3) 628,743,360 nlaluas 4) 628,743,036 nlaiuas



STEP 1:dovmsus:zncudiuduiGunania TRdaiduldoiusu
Avidnthaaluoufivhanndovmsus:uiru

STEP 2:gnannalumvuaniiognitulavia
- Midu 0 - 4 Jaav
- MiUu 5 - 9 Javu

Ex. pvus:=nnumidudiuduidusoauav 79,821



DIUsUUUNa:auuauoOvLDIUIUUU

ovus:utuAItududuIdiunandiv ¢ dodelud

DiuduIquduuoy 7,326

DIUDUIAUWUUDD 193,540
DuduIdunduyay 3,920,321
gwsuidiukiiugoy 599,301

|
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Exercise |

3. yauswnnythuhiagueteyawunthiviuus:inAlnainorua
171,586 cnswnlaluas wunthiluus:indlnaiinvbrua
Us:=urrunensivnlaiuas (couidudiuduidiunau) (O-NET)

1) 170,000 ensvnlaluas 2) 172,000 ecnshonlaluas
3) 200,000 ensvnlaluas 4) 202,000 ensvnlaluas
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4. MUs:unuIidudiuduIciusoad na=muszunuIdudiIuduIuwu
yovouduludola Ao 90,000 (O-NET)

1) 89,599 2) 89,959
3) 90,059 4) 90,599



DIUsUUUNa:auuauoOvLDIUIUUU

nalay
DIUDUIAUSOE DIUDUIAUWU
1) 89,599 89,599
2) 89,959 89,959
3) 90,059 90,059

4) 90,599 90,599
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Exercise |

5. Us:zinAlnamamsniwuniwiz:uanthoundina:dnounusp

yobUiwi:uan 2556 dhoawnulan 65,458,230 Is
thounusbuan 16,728,310 Is svmus:=uruiudiudsuiduaiu
yovbwacdvwuniwzuanghaunUna:zdhauusoiudiwizuan 2556
(O-NET)

1) 48,000,000 Is 2) 48,800,000 Is
3) 49,500,000 Is 4) 50,000,000 Is



dusuliunazaudduandIuduliv J

1. dauvamsdaun

auUdimsaaunvobomsuan  auddimsadunuovmsan
A+B=B+A AX B= Bx A
8+9=9+ 15%x12 = X 15
16 + X = _  + 16 19X Y= YX
(12 +3)+7=7 + 6 -2)x 7= 7x



9iusuliuNa:auiGuansUdUlL

2. aubdmsivaauny

dauuamsivasaurijuoumsuan  audansIvagdunLiyovmsau
(AxXB) x C =A xX(B x Q)
2+( + ) Ax%x7) %3

(A+B)+C=A+ (B + Q)

(2 +4) + 6 =
(3+7) +5 =

_+ (_+5)

(3X5)X6

4 X (X_)
X (X 6)



gusuliuna:auUauoLHUIULIY |

3. dUUdaMSHDNIIDL

(B+C)=(A><B)+(A><C) (A+B)@=(A><C)+(B><C)

4 X (3 + 5) =



gusuliuna:auituonguduliv |
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6. volalauudmsadaunuovmsuaniumsmwaudINuoL
(3 +5) + 2 (O-NET)

1) 3 +2)+5
3) 2 + (3 + 5)

10 2) 3+ (5 + 2)
10 4) (2 + 5) + 3

10
10
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7. Tumsmmaouvov (179 + 58) + 42 IaslBauoa
msivagunijuovmsuaniumsmeciou (O-NET)

O... (179 + 58) + 42 = 237 + 42 = 279

... (179 + 58) + 42 = 179 + (58 + 42) = 279
ua... (179 + 58) + 42 = (58 + 179) + 42 = 279
KUuod... (179 + 58) + 42 = 42 + (179 + 58) = 279

| On O

1) 9o 2) oU 3) Ua 4) Kuod



DIUsUUUNa:auuauoOvLDIUIUUU

naiay
0. (179 + 58) + 42 = 237 + 42 = 279
W... (179 + 58) + 42 = 179 + (58 + 42) = 279
ua... (179 + 58) + 42 = (58 + 179) + 42 = 279
nuod... (179 + 58) + 42 = 42 + (179 + 58) = 279
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Exercise |

8. volalsauudmsaaunuopmsarulumsmwanmuuob
(5 X3) X 4 (O-NET)

1) (3X4) X5 =60 2) 4 X(5X 3) =60
3) 3 X(5X4) =60 4) (5X4)X 3 = 60



